RETAL 2XAERX WBW3 03

1. ROBFERZMF. (S22, A3, Biedr, CH5530%)

(1) 22 4+4=—x+4 (2) 22 —-12=0

3 22—-100+9=0 (4) 222 +202-50=0
(5) 22 +22-15=0 6) 222-11z-2=0

(1)  242% =300 (8)  102% + 452+ 50 =0
(9) 224130z — 3000 =0 (10)  (z+5)2-3(z+5) =0
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2.

ROFEREMT. (S22, A3, B4z, CH55530%)
(1) 224+5=x+5 (2) 22 —-20=0
3) 22-92+8=0 (4) 222 +162-22=0
(5)  22+22-35=0 6) 222-11z-3=0
(1) 362% =300 (8)  8x2+4424+48=0
(9) 2%+ 30z —4000 =0 (10)  (z+2)? -5 +2)=0
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1.

RETAL 2XAERX WBW3 03

* 2 RAER (equdratic equation )
O FuhEsbrozidiud, H8 =0 18K T 3.
@ fol% NG TE RSO,

(1) 22 44=—zx+4

~fid =00l
il % BT

2>+ = 0
z(z+1) = 0
Xl z+1=0
X

xTr =

=20 x=—1

(3) 22 —10z+9=0
(x—=1)(xz—-9)=0

z—1=0XlEdxz—-9=0
z=1XlFxz=9

(5)  224+20-15=0
(x+5)(x—3)=0

z+5=0XIFx—-3=0
z=-5Xldx=3

(7) 2422 =300

2 300
24

< = 24

x = £,/

(9) 2% +130x — 3000 =0
(x+150)(z —20) =0 <753 % KB R
r+150=0 Xld 2 —-20=0
z=—150 XlF =z = 20

YRR Z T G EE RO R (A K)

mRERES

ROFRERZRT. (SHh29, A3y, Bikdsr, Cb5m30%)

(2)

(4)

(6)

(8)

(10)

22-12=0
x? = 12
x = =42v3

222 +20x — 50 =0

22410z —25=0 4 = 2
—5+,/52—1x (=25 .

- D) st

x=—-5++50

r=—5+5V2

202 — 11z —2=0

—(=11) £ /(-11)2 =4 x 2 x (-2)

<« VNS
) [AOYN=Y

Tr =

11 4++/137

o 4

1022 + 452 + 50 = 0

202 +9x +10=0 <l <=5

(22 +5)(x+2)=0  <7T ST ORI H
20 +5=0Xlxz4+2=0
x:—gxum:_z

(x+5)2=3(x+5)=0

A=z+5 B L,

A2 -3A=0
A(A—3)=0
(x+5){(z+5)—3}t=0
(z+5)(z+2)=0
z+5=0NlFx+2=0
z=—-5XlFxz=-2

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2.

ROFERZMT. (SH25, A3, B4, CHs5330%)

(1) 22+5=x+5
-z = 0
rz(r—1) = 0
z=0 Nl z—-1=0
T = XlF z=

4G4 =0 D

(3) 22 —-9r+8=0
(x—1)(xz—-8) =0

r—1=0NlFxr—-8=0
c=1XlFxz=8

(5)  224+22-35=0
(x+T7)(x—5)=0

r4+T7=0NlFxr—-5=0
z=—-7TXldx=5

(7 3622 = 300

a? = < + 36

(9) 2% +30z —4000 =0
(z +80)(x — 50) =0 < /cid% KE i
r+80=0XiFz—-50=0
x = —80 Xl& z = 50

YRR Z 7 WG A3 RO R (A RK)

il % BT A

(2)

(4)

(6)

(8)

(10)

z2-20=0
2 = 20
+2v5

222 4+ 162 —22=0

2248 —-11=0 —ijd =2
44 /42— 1 x (—11 "

o= : 1D st

x=—44+27

x=—-4+3V3

202 — 11z —3=0

—(— —11)2 — —
oo 11) + /( ;22 A1x2x(=3) sk
_ 11+145

o 4

8x2 +44x +48=0

22 4+ 11z +12=0 <l + 4
(x+4)2x+3)=0 < 7TEHT ORI
r+4=0XlF2x+3=0

_ __3
z=—-4XlF z= 5

(x+2)2—=5(x+2)=0

A=2+2 B L,

A2 —54=0
A(A—5) =0

(o +2){(e+2) =5} =0
(x4+2)(z—-3)=0
z+2=0XlFz-3=0
r=-2Xlgz=3
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